ITI Surveyor 1st year Moudle 4 Compass Surveying

(1). How many are methods for eliminating the effects of local attractions? |

R BN o THTAT T JHT B o [0 T axidh &2
(A) 2 methods | 2 faferaT
(B) 3 methods | 3 faferr
(C) 4 methods | 4 fafdraf
(D) 5 methods | 5 fafdrr

Correct Answer : A

(2). What is the magnetic bearing of the line, if the true bearing of a line is 225°
and magnetic declination is 2° west? | ¢IIg WWWW% 3R fob il
TS HI € ST 225 ° 3R I 1T SIFARA 2 ° UHH B2

(A) 221°
(B) 223°
(C) 227°
(D) 229°

Correct Answer : C

(3). What is the back bearing of line PQ, if fore bearing of line PQis 133°30'? |

e PQ 1 o faafiv T 8, 3l a1s pa B BR foafi 133 © 30 52
(A) 42°30"
(B) 46°30’
(C) 223730’
(D) 313°30'



Correct Answer : D

(4). What is the magnetic declination? If the magnetic and true bearing of a line

are 322° 30’ and 319°30"? | GEH 1T A= &1 g2 T, [l AR BT aDb g
3R T IR 322 ° 30 /3R 319 ° 30’ &7

(A) 2°E
(B) 2°W
(C) 3°W
(D) 3°E

Correct Answer : C

(5). What is the name of part in compass marked as ‘x’? | S H HIT BT AH %’
FETHRIG?

L AN |

(A) Box | f&&aT
(B) Pivot | fUale



(C) Agatecap | Qﬁ?%q
(D) Magnetic needle | Wﬁg

Correct Answer : B

(6). Which declination direction is to be used for the - sign in magnetic bearing

line? | B SURAT ATS | TTS-37 & oW fh g Shel-=M = o1 IuamT
fpar Sirar g2

(A) East | qd

(B) West | Uigrg
(C) North | 3TR
(D) South | Gf&fOT

Correct Answer : A

(7). What is the name of quadrant, if a line lies in between 180° and 270°? | WIE_C’

T 19 91 3, fe; Teb 3T 180 ° 3R 270 ° & ST 82
(A) SE
(B) NE
(C) NW
(D) SW

Correct Answer : D

(8). What is the rule for converting R.B to W.C.B, if a line lies in between 270° and

360°? | R.B &I W.C.B & uRafdd &3 &1 fFrgm wr ], afe &1$ 3@ 2700 2 360°
FEAT?

(A) W.C.B=R.B



(B) W.C.B =360°-R.B
(C) W.C.B=180°-R.B
(D) W.C.B=180°+R.B

Correct Answer : B

(9). What is the back bearing of CD in quadrantal system, if the fore bearing of CD
is S 60°30' W? | BIged ke § cp FT 9% SR 1 g, Tl WSt &1 the ST

S 60 °30 "W &7
(A) N 60°00'E
(B) S60°30'E

(C) N 60°30'E
(D) S60°30' W

Correct Answer : C



(10). What type of compass the system of graduations are marked? | ‘jﬂ@'ﬂ

Ul fhd U R & HHIrg o1 ffgd Bl g2

(A) Trough compass | ¢th hHTH

(B) Magnetic compass | Wtrmm
(C) Prismatic compass | g s
(D) Surveyor’s compass | AR HHY

Correct Answer : D

(11). What is the angle of QPR, if the F.B of the lines PR and PQ are N 69°00' W
and S 49°30' W? | QPR WWW%, gfg alsél' PR 3R PQ®IF.BN69° 00 W



3RS 49°30'W B?

N
!
R 62=69°C
We—""% ~E
01 Ta'al:l'
Q
S
(A) 81°30'
(B) 71°30
(C) 61°30'
(D) 51°30’

Correct Answer : C

(12). What is the angle BAC, if the bearings of the lines AB and AC are N25°30'E

and S 85°30'E? | 1T BAC T8, AT AB 3R AC JTT3MT &1 SIRITN25 ° 30 ' E



3R s 85 ° 30'E @7

N B
A
25°30'= 61
Ol
= A f c
85°30'= 62
!
S
(A) 59°0"
(B) 69°0"
(C) 79°"
(D) 89°0C

Correct Answer : B

(13). What is the back bearing of line PQ, if fore bearing of line PQ is 212°45'? |
AT PQ BT 9 SR T 8, TfS ATS pQ BT The AR 212 ° 45 B2

(A) 32°45’
(B) 122°45'
(C) 147°45'
(D) 302°45'

Correct Answer : A



(14). Which compass the reading is taken with the help of a prism provided with

the eye view? | 3G B! 3T & 1Y UM fbT U fUH ot Ggraar 9 S !
g g & ferm ST 82

(A) Trough compass | ¢th hHTH

(B) Magnetic compass | Wtrmm
(C) Prismatic compass | fOrsHg s
(D) Surveyor’s compass | AR HHY

Correct Answer : C

(15). What is the interior angle of COB, if the bearing of OC is 135°30’ and OB
225°? | COB T TR HIVI T8, 3R 0C BT TN 135° 30" 3R OB BT 225°

87

(A) 44°30'
(B) 55°00’
(C) 89°30'



(D) 125°00

Correct Answer : C

(16). Which quadrants has the numerical value of bearings increased in clock wise

direction? | 8! &1 fo=m H dTaf & Temets aH & fhg aquie A gfa gs 82
(A) land Il quadrant | | 3R T’alﬂzﬁ'QT
(B) land lll quadrant | | 3R Illaﬁzﬁ'ﬂ

(C) land IV quadrant | | 3R v T’alﬂzﬁ'QT
(D) Iland Il quadrant | 11 3R 1 Iquf

Correct Answer : B

(17). What is the rule for converting W.C.B to R.B, if a line lies in between 0° and

90°? | W.C.B BIR.BH ggem & s w8, afe dIS aro© 3R 90 * b oflg
o7

(A) R.B=W.C.B

(B) R.B=180°-W.C.B
(C) R.B=W.C.B—180°
(D) R.B=360°—W.C.B

Correct Answer : A

(18). Which one of the method is more accurate in plotting a compass traverse? |

S ¢ B W B | b O fafer 31feres wdte g2
(A) Included angle method | W@'Wﬁlﬁf
(B) Paper protractor method | TR Uicaes fafy



(C) Parallel meridian method | JaHIR ARkfsga fafdr
(D) Rectangular co-ordinate method | AP R Pl-3Nfe-e fafd)

Correct Answer : D

(19). What is the system of bearing shown in figure? | ICEE:| GQIié Tlga'qﬁ_"[
R Sl g2

(A) Fore bearing system | TR ST Req

(B) Reduced bearing system | WW@I@

(C) Quadrantal bearing system | WW@I@
(D) Whole circle bearing system | WWWW

Correct Answer : C

(20). Which variations occurred by magnetic storms? | W Q\Lbl'-l\l. X1 Or?l'-l ]

fafaeramy gt ¢



(A) Daily variation | WW

(B) Annual variation | a1 TUiaR

(C) Secular variation | WW
(D) Irregular variation | 3afid = aidR

Correct Answer : D

(21). What is the exact difference between fore bearing and back bearing of local

attraction in a particular place? | Tl [aRIY RITF TR R THYU &H BIR 3R
9% daRTT & o Tt IR AT |]?

(A) 45°

(B) 90°
(C) 180°
(D) 270°

Correct Answer : C

(22). What is the rule for converting R.B to W.C.B, if a line lies in between 90° and

180°? | R.B BT W.C.B & URafdd & &1 fRum =i g, afe s ¥a@r 90 ° 3R 180 °
& ST g?

(A) W.C.B=R.B

(B) W.C.B=180°-R.B
(C) W.C.B=360°-R.B
(D) W.C.B=180°+R.B

Correct Answer : B



(23). What represents the line OX in the figure? | Wﬁm OX &I T STl
87

Y
Y
D
d:
E
B
B — ]
.It \—\\\
B
0 & & ds by [ X

(A) Meridian |ﬁﬁ%’q:[

(B) Fore bearing | TR SR

(C) Back bearing | D ST

(D) Magnetic meridian | Wﬁﬁ‘%’cﬂ

Correct Answer : D



(24). What is the name of part in compass marked as ‘x’? | SN H YR BT A
NECRSUR: kU KF

A |

B RS I Y

(A) Pivot | fdle
(B) Prism | fOSH
(C) Prism cap | S &Y
(D) Agate cap | T &Y

Correct Answer : D



(25). What is the direction of line of sight towards back bearing in surveyor

compass? | IR HHY H 9 Wﬁ%ﬁ%ﬂ%?

(A) N30°E
(B) S30°E
(C) N30°W
(D) S30°W

Correct Answer : A



(26). What is the system of bearing shown in figure? | ICEE:] GQIi'sf Tlga'CIﬁ"T
RRen S g2

AN

(A) Fore bearing system | R SR Req

(B) Reduced bearing system | WWW

(C) Quadrantal bearing system | WW&I@
(D) Whole circle bearing system | WWWW

Correct Answer : D

(27). What is the back bearing of AB, if the fore bearing of AB is N 50°45' W? | AB

H1 9 STRIT T8, TfS AB BT IR SIANRITN 50 ° 45 ‘W 8?
(A) N50°45'E

(B) S80°00° W

(C) N80°00' W

(D) S50°45'E



Correct Answer : D

(28). What is the name of the method of plotting in compass survey? | @ HH

Jaeur & T B &I A BT R am g2
)
B
C
A
E D

(A) Included angle method | EW_&'WW

(B) Paper protractor method | UWR Uicdex fafdr

(C) Parallel meridian method | JUHIR ARkfsg= fafy

(D) Rectangular co-ordinate method | AR Hl-3MfSae fafdy

Correct Answer : A

(29). Which compass cannot be used without a tripod? | ﬁuﬁ%ﬁmﬁq@r
S BT YT 8! [T oI Yhdl 87

(A) Trough compass | % HHIY



(B) Magnetic compass | TF I HHTH
(C) Prismatic compass | fOrsHg s
(D) Surveyor’s compass | AR HHY

Correct Answer : D

(30). What is the back bearing of AB in quadrantal system, if the fore bearing of

AB is N 25°45'E? | THS UM § AB &7 9h SR T 8, TfS AB BT HIR
SHafTN 25 © 45'E B?

(A) S25°45' W
(B) N 25°45'W
(C) S25°45'E

(D) N 50°00'E

Correct Answer : A

(31). Which declination direction is to be used for the + sign in magnetic bearing

line? | THHIT T8 X1 H + g & A ®1F T SHAMRM [ BT SUaRT fban
ST 8?

(A) East | qd

(B) West | Of&H
(C) North | ST
(D) South | Gf&fOT

Correct Answer : B



(32). Which compass can either be used as a hand instrument or can be fitted on
a tripod? | I T HHTY T A1 81U & T1eH & 70 H ST Ha1 S Iehdl 8 T
foyaTs W fre fpar s awar g2

(A) Trough compass | ¢th hHTH

(B) Magnetic compass | %ﬁﬁum
(C) Prismatic compass | fOrsHg s
(D) Surveyor’s compass | AR HHY

Correct Answer : C

(33). What is the name of the method of plotting in compass survey? | @ HH

A& H et B ) fAf w1 am g2
Y
Y
D
&
g E
Ca / c
a A"-—-\\
B
0 & e d: by o X

(A) Included angle method | me



(B) Paper protractor method | TR Uicaes fafy
(C) Parallel meridian method | JaHIR ARkfsg= fafdr
(D) Rectangular co-ordinate method | AP R Pl-3Nfe-e fafd)

Correct Answer : D

(34). Which compass has the graduations engraved are inverted? | fPg s H

I U] USYUH I Bl ] 7
(A) Trough compass | ¢ HHIY

(B) Prismatic compass | gl-dcbnlq hHTYH
(C) Magnetic compass | TOSHIT HHTH

(D) Surveyor’s compass | IR HH

Correct Answer : B



(35). What is the angle of AOB, if the bearing of OA is 35° and OB is 140°00°? |

AOB BT HIU R g, Tfe 0A BT IIIRAT 35 ° 3R OB 140 ° 00’ B?

A

(A) 40°00

(B) 105°00’
(C) 145°00°
(D) 175°00

Correct Answer : B

(36). What is the term is used for the horizontal angle with a line makes with this

meridian? | @WW%WN’ WW%WWWWWW
ST 82

(A) True bearing | EW

(B) True meridian | gﬁﬁ%ﬂ:{

(C) Magnetic bearing | Waﬂﬂﬁ'ﬂ
(D) Magnetic meridian | Wﬁﬁ‘%ﬂ:{



Correct Answer : C

(37). What is the back bearing of line AB, if fore bearing of line AB is 85°30'? | tﬂ%

TS AB b1 IR SIINAT 85 © 30 §, Tl TS AB BT 9 SR T 82

%30

(A) 215°30’
(B) 240°30’
(C) 265°30’
(D) 300°30°

Correct Answer : C



(38). What is the part of prismatic compass marked as ‘x’? | ST SN & HAT
D2 X 'P TY T T Hel oldl 82

(A) Prism | o
(B) Mirror | &n'{‘—n
(C) Line of sight | %@ﬁ%@

(D) Focusing stud | &I Higd B A TS

Correct Answer : A

(39). Which compass the needle also act as the index? | I T BT ﬁ"iﬁ

el & ¥ 7 H Hrf Har g2

(A) Trough compass | ¢th hHTH

(B) Magnetic compass | Wtrmm
(C) Prismatic compass | fOrHg s
(D) Surveyor’s compass | AR HHY




Correct Answer : D

(40). What is the magnetic declination of the sun, if the magnetic bearing of the

sun at noon is 355°7 | @@WWUWW%W 355 %’?ﬁﬁﬂfﬁ
JaH I SHALH T g2

TN| .‘M'N

L

w/;ﬂﬁ“
5

(A) 5°E
(B) 5°W
(C) 6°E
(D) 6°W

Correct Answer : A

(41). What is the inclination of the needle with the horizontal in prismatic

compass? | TIGHI HrOTg # &l & 1Y s BT YhTd R 5?
(A) Dip of the needle | s 3ifws fAfsd
(B) The magnetic needle | Wﬁ’sﬁ



(C) Declination of needle | ﬁéﬁﬁ?ﬁ[
(D) Local attraction of needle | ﬁgﬁ@ﬁ-ﬂ'&f ATH YT

Correct Answer : A

(42). What is the magnetic bearing of the line, if true bearing of a line is 85° 30’
and the magnetic declination is 4° East? | Ig &I ﬂ@lcbﬁlq WTGP:IT%, AR
forelt TS 1 € AT 85 ° 30 of § SR B SR 4 ° Jd 2

(A) 77°30'

(B) 81°30'
(C) 89°30°
(D) 93°30°

Correct Answer : B



(43). What is the name of angle ABC? | PHIUT ABC W:I'ITIW%?

N
|

[

(A) Acute angle | I DIUT

(B) Obtuse angle | Y& HIUT
(C) Exterior angle | ST} 10T
(D) Included angle | 3fTAN® HIUT

Correct Answer : D

(44). Which compass graduated ring is attached with the needle? | I T B
A oS TS & I JSI g8 07

(A) Trough compass | ¢th hHTH

(B) Magnetic compass | Wtrmm

(C) Prismatic compass | fOrHg s



(D) Surveyor’s compass | AR HHY

Correct Answer : C

(45). What is the name of quadrant, if a line lies in between 90° and 180°? | ?@E’

BT TH FT g, Tl HIs WM 90 ° 3R 180 ° o o4 82
(A) NE
(B) SE
(C) NW
(D) SW

Correct Answer : B

(46). What is the term is used for the horizontal angle between a line and the true

meridian? | T @18 3R T ARSI & oiid &S Hi1v & forg fore <reg o1
SUANRT fohaT SIel &2

(A) True bearing | ‘gaﬂwﬁﬂ

(B) True meridian | gﬁﬁ%’tﬁ

(C) Magnetic bearing | WW
(D) Magnetic meridian | Wﬁﬁ‘%ﬂ:{

Correct Answer : A

(47). What is the rule for converting R.B to W.C.B, if a line lies in between 180°

and 270°? | R.B &I w.c.B & URafdd &3 & forw = fRam g, afe &1 3@ 180°
3R 270° P ST B2

(A) W.C.B=R.B
(B) W.C.B=180°-R.B



(C) W.C.B=360°-R.B
(D) W.C.B=180°+R.B

Correct Answer : D

(48). What is the angle of QPR, if the bearing of PQ and QR are S70°00’E and
$10°00'W? | QPR T HIUI T B, TfS PQ 3R QR BT SARIT 570 ° 00°E 3R 510 °

00'W B?

(A) 60°00'
(B) 80°00’
(C) 100°00°
(D) 120°00

Correct Answer : B

(49). What is the name of instrument, to measure the bearing line in whole circle

system? | X Aohd Red § T a2 &1 A1 & g, T1eA &1 =19 1 82



(A) Trough compass | ¢t hHTH
(B) Prismatic compass | WW
(C) Magnetic compass | fOrsHg s

(D) Surveyor’s compass | IR HH

Correct Answer : B

(50). When is the observed bearings, corrected bearing are calculated? | d

AT SR ], T8 SRR 1 UM &1 oflcll 82
(A) After plotting | TTTRI I8 & §TC

(B) During survey | GJ&TT &b SR

(C) During plotting | TTRT T&= & SR

(D) Before plotting | TSR T ¥ Ugd

Correct Answer : D




